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Uy X = (U .S )
X, UNIGER . —— XN E RE,

_[PM) o= ()
p(xk |Sk) _{l_ p(uk) X, # f(uk,sk)
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3.5.2 GEKIEMFEHEE (3)

~"
:/'..(

f13. 14

WS EENL A}, PU,=0)=p , pu,=D=q , p+q=1
SENLE I ) Sl FIRRN % =, 0%, 0%, Hf1®
N2 A

(1) FEHLH () RN 5 REE?

(2) MR IREE, HARREFHEBI R I EIRDS
MR E .




3.5.2 KRR FEFE (4)

it

P4 ) AL A), Eni ZI R BUEAN Sn-1

oA R4, 13 DL R OB %
Kl

xd HIR I TR B S =X oK

S, ls)= Y pu,)

iU, =X, =X, ©X_1 OX, o

= p(u,)

A

8

U, =X, ©X,_1 DX, ! n+1 (an n)
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3.5.2 SRR~ ERE (5)

it

AR R -

p(x,=0|x _,=0,x_,=0)=p(x,=1|%x,_, =0,x_, =1)
=p(x,=1|x ,=Lx_,=0)=p(x,=0|x_, =1,x _, =1)
=p(,=0)=p

p(Xn :1| Xn—2 = O’ Xn—l — O) — p(xn — Ol Xn—2 = O’ Xn—l :1)
=p(x,=0|x_,=1Lx_,=0)=p(X, =1|x_,=1Lx_,=1)
=pu,=1)=1-p
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3.5.2 GGIFERIERE (6)

AL, S REER
RS MR
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3.5.3 D FCHENXH RRIBRVERTHE (1)@

| 3. 15

AT R, RN (0, 1), Hd
FPaEER g pO/0)=08 , pL/)=07
VR = U R TG 1 B AR
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R R Y]

-

o im0

\ p0+p1:1

— P, =3/5p,=2/5
P(000) = p,p(0/0)p(0/0) =0.6x0.8x0.8=0.384

84



3.5.3 GCH#HNXY RIEAEEITTE ()M
fite . ‘ Jz

RS2

p(001) =0.6x0.8x0.2=0.096  p(010) =0.6x0.2x0.3=0.036

0(011) =0.6x0.2x0.7=0.084  P(100)=0.4x0.3x0.8=0.096
P(101) = 0.4x0.3x0.2 = 0.024 p(110) = 0.4x0.7x0.3=0.084

0(111) =0.4x0.7x0.7 =0.196

85



3.5.3 GIR#ENXY RIENERITH (4) @

® |
s (x ox D)o s () k=000, V- m

HApKONI B, IVIREF 5.

HXX, - X,)=HS S S, 0 HA, S =X _X X

m+1" m+2 N+1 k—m"" k—m+1 k-1

AR R A v, ¥ BRI, IFAIAH S RS
H(X1X2“'XN): H(Sm+1)+H(S /Sm+1)+”'H(SN+1/Sm+1Sm+2'”SN)

m+2

:H(S )_|_H(Sm+2/S )+'”H(SN+1/SN)

m+1 m+1

= H(Sm+1> T ﬁ H(Sk+1 / Sk>

k=m+1
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3.5.3 SN RiFEREAITE (5

®
X TPR T R, RA SR PRAN, R PR
HRBAR PR T 0. BORA TR

n:(ﬂl’ﬂz’...,ﬂnm

£ Ay

HX Xy X)) = H(S, )+ WV = mAS, ) S,)
= H(r) + (V — ]]])Zﬂ'f] = H(x) + V — m)z'h

ﬁf #1, H(m) %/T%/ﬁ%* FrE T i FEHIA
— (hlhz m) 79}./7/%:%
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3.5.3 SRHNXY RiFREHIITE (6)

IR R IR B R Ao A, U
NUA R B~ 755 05 9 -

H(X,X, X, )=H(m+(N —m)a'h

HN(X):%H(X1X2~--XN):%[H(R)+(N —m)r' h]

88



3.5.4 GG REFFS MR (1)

THE TV “( |
o (2 Y MR SRS B 5 RS, B -

R mE—, U —mbr L IR AT 5 RN
H,(X)=limH, (X)="h

mif By PRV = R A P A o0 A FIR A e
MR FERE AT IR E
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3.5.4 GEKIFEFSHEAIITE (2)

W53, 1348
SRAB IR A R 75 4

i
H (X)=='h

— %[—O.Slog 0.8-0.2log 0.2] % 2+%[—O.5Iog 0.5-0.5log 0.5]x 2

—0.801bit / 5=
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3.5.4 GKIEFSHEETE (3)

TR T2

o (FSMI K HEIRMNEIRESHEREH
— NHPIRESES, AR 2 AME TR T FI B — VIR
Ao IXFE HUIR S H MR AE BEAS BERf 2 B VR I
175, 10 S BELUIRZS 44 5 TR I % A7 -5 IO g
RIRAG VR -

® 25 5E M IS YRS 2 F T B VR M5 H 75550

j"j: H(X / g = j) — —ZH: pl.(a])logpl.(&’_,)

Hrh,a e A=(a, -, a,), ANBIEFTSE
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3.5.4 GEKIEMFSIHTE 4)

A 7L FRRRIR A s 1= A BLAT
R X, X2, - Xk—144F M4
U 2 S XK TR 2

J
H(X, /s, = jlxl'uxk—l)zzp(sk =1/s, = ])H(X /s =I)
i=1

Xf s 1THF- 1)

J J

H(X, /Sy Xy X)) =D D p(s, = ))p(s, =i/s, = PH(X /s =i)

j=1 =1

:ip(sk:i)H(X/s:i)
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HX, /S, X X ) =) pls = DHX /s = 1)

w5 48
H, =lim H(X | X, Xy4)

N —o0

AR S IR, A
Hoo — H(Xk+1/X1"'Xk)

D Hk+1
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3.5.4 GIRFEFSIHERITH (6)

X)) = J[{()(k+1 /S, X X))
=Y p(s =)H(X/s=i)

—a'h

ORATRY hif) 5 4 B HUR A R R %
IR 8 U 0 2% P

ﬁ> \J
=
HI
)
il
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3.5.4 GEKIFEMFSHEAITE (7)

R B IR AT 5 RN

H, (X) =Y 7 H(X /s =i)
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3.5.4 GKEFSHATTE (8)

(1) EHI. 747 15 RIEFT 5 BT 570k
FeREEIRE T AT 545,
RS HIBE =125

(2) VA5 R 2 APRES P A2 o A

(3) BALYHR/ 75

(4) EETER 1@
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3.6 BRI XMESRKE

3.6. 1 fSIRAIAHIIE
3.6.2 fFIRRIRIE OURED

3.6.3 WAREHE



3.6.1 {RiRHIMEXE

L AS TR SN E B2 B IR AT = [B] A MR JEE

AP At SRR A G B, A
AL, FF 5 MORREBGROR, RRlN, [ZTRR

AEEAn N5, AT ARG LAl tH 5
(ERURYEDS)

H, =logm (FFS¥HrEH)

H =H(X, /XX )
Cn- 1[92 BYR)




3.6.2 BIRRI&EE (REKE)

YR TUA S RS 247 (VAT Lk —=
TR LRI AT 5 1 LA
H

(R ES n=—
Ho
H

HO



= 0.1859 I 0.0575 R 0.0484
A 0.0642 J 0.0008 S 0.0514
B 0.0127 K 0.0049 T 0.0796
C 0.0218 L 0.0321 U 0.0228
D 0.0317 M 0.0198 VvV 0.0083
E 0.1031 N 0.0574 W 0.017/5
F 0.0208 O 0.0632 X 0.0013
G 0.0152 P 0.0152 Y 0.0164
H 0.0467 Q 0.0008 Z 0.0005




3.6.3 XAER

X T SE PR g Sy B RIS A -

|

n:$20.29
HO

,L
H.=14 (H45/7575)  »=1-0.29=0.71



3.6.3 AR

DU R 3
B i AP A DUF MR,
I 140 0.5

0.5/140
I 625-140=485 (0.85-0.5) =0.35 0.35/485
I 2400-625=1775 (0.997-0.85) =0.147 0.147/1775

vV 7600 0.003 0.003/7600



3.6.3 XAXIEIR

MR L2, AU S DOR (S PR S S0

10000

H(X)=-> p,logp,
=9.773 (L#s/755)
~ H(X)

=~ (0.264

y=1

0



3. 6.3 XAIEIR

B3, 17 R4 L RSELR, M HEE S gy “(
VE A R IR R AN 43 A

SoF T-INAE, (SRR, 72=4.1/13.29=0.31

FIRRE:  ra=l7;,=069
W FHE, (IR, m=1.4/log; 27=0.29

Tl 4> P y, =1—1, =0.71
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1 BEHEUEIRXPINKY IR HXY) < N H(X)
VELE PR S WA

N S et S e < L g 1 .
2 BHUBEXBFINKY IR AT AT 5485 Hy(X) =T HXH) < HX)

NEIEY P RIRVALN v AT
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2« HILICAGIRIIFT 545
HOO(X):Lim%H(XN):I!Iim H(X, /X, X,)

HH HX)2H,(X) 22 Hy (X) 2> H_(X)

3. Ly IRVRHIAT = -

H.(X)=> 7, H(X/s=])

H H(X/s:j)=—ip,-(ai)logp,-(ai)

T

n=nP
H

4. (ZJRF S
—1-p=1-—=
/4 n H

0
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